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v—=1. Key Words
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« layoff = ol 11, & Al alil 2
« annual budget = &2t Ol A

« last quarter = Xl 27|



‘? 2. Key Pattern Drills

= The number suggests +=X|= ~& HFL|C}.

The numbers suggest we spent too much

t ke RE7THE B2 XES ;s AS R EFLCL

The numbers suggest people were unhappy

DXl AHES0| YEoIX| USE HoFL O

The numbers suggest the recession is over.

t ks 280| B AS HoFL|CL



f: 2. Key Pattern Drills

* Go into great detail
. XpM S LI 22 S0{7 FHIR.

Go into great detail about cost.

: H|Zof Chsh xtA|st LIB22 S0{71 FA L.

Go into great detail when explaining something.

P FAU7IE 4EE W XM B2 2 S07F FHL.

Go into great detail as to what numbers represent

: X7} o|n| st Hiofl CHsHAM XpMSH I8 22 S0{7}

FH 8.



‘? 2. Key Pattern Drills

» What does that mean for...
~0f| C{sf 2 Z 0| 2|0|35t= H}7} FAQ7IR?

What does that mean for job security?

c XA g dol tis 22d0] o|ojstE 7t FAQU7tR?
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What does that mean for retirement benefit?

% 30 thsf 2Zo] e|ojst= = £AQAZIR?

What does that mean for tax payers?

: a2 XI=sts AHS0IAl O A0l 2n[dtE b= A

o17tIR?



3. Common Mistakes
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= much vs a lot of

Bill Gates has much money. (X)

— Bill Gates has a lot of money. (O)
*mucht HE HXNX o|n|o| & £ 9= HAL0| Al

eg) I don’t have much money.



4. Biz Expression of the Day

= break something down

— 'ROJIE (RE2E LI50{) dEsio
That charts looks a little complicated.
Can you break it down for me?

> XE7H SRS ROlSH LM NEs) = 4 YLtg?
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= Formal vs Informal

<=5, Formal vs. Informal

Formal
This figure illustrates...
There's a significant
difference---

This segment represents:---

Informal
Here we can see---

There's a big difference...

This part shows:--




